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(GGenerator
function

® When invoked,
returns a generator

object —___
\

® Generator objects
implement the
iterator interface:
.next (.__next__in
Python 3)
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>>> def gen_123():

e yield 1
yield 2
yield 3

>>> for i in gen_123(): print(i)

>>> g = gen_123()

>>> (

IS <generator object gen_123 at ...

>>> next(qg)
1

Z» next(g) Py‘rhon 2 2.6

>>> next(g)

3

>>> next(qg)

Traceback (most recent call last):

StopIteration



(Generator
behavior

Invoking a generator
function builds the

generator object but
does not execute the
body of the function

>>> def gen_ab():
print('starting..."')
yield 'A’
print('here comes B:')
yield 'B'’
print('the end."')

>>> for s in gen_ab(): print(s)
starting...

A

here comes B:

B

the end.

.S>> g o= gen_ab()
|>>> next(g)

starting...
IAI

>>> next(qg)
here comes B:
IBI

>>> next(qg)
Traceback (most recent call last):

StopIteration




>>> def gen_ab():
Generator print('starting...")
S yield 'A’
print('here comes B:')

behavior e

print('the end."')

>>> for s in gen_ab(): print(s)
starting...

A

here comes B:

® The body is executed  [HNE——-_.

only when next is N> geit?gf;_ab()

called, and only up to starting..-
the following y1e1d . >>> next(g)
here comes B:
IBI
>>> next(g)
Traceback (most recent call last):

StopIteration
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>>> def gen_ab():

print('starting...')
yield 'A’

print(‘here comes B:')
yield 'B'

print('the end.")

>>> def gen_ab():
print('starting...")
yield 'A’
print('here comes B:')
yield 'B'
print('the end."')

>>> for s in gen_ab(): print(s)
starting...

A

here comes B:

B
the end.

starting...
IAI

>>> next(g)
here comes B:
IBI

>>> next(g)
Traceback (most recent call last):

StopIteration



358 BB 2 & B 25 (Fibonacci)
SRR def fib(max):

0,1,1,2,3,5,8,11,19,...

RPN E020,1, A — U BTN

while a < max:

PRI EN A s

yield a

a, b=b, a+b



>>> def fib (max):
a, b=0, 1
vaile a < max:
yvield a
a, b =Db, a+b

>>> for fib number in fib(100):

rint (fib number)
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BRI <8 F next()
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fib_number=a

SRR ITEN R




“EFRERNFHDENRBIR

o M AE AR, AR deffib(max);

BLE T — LB Wy a,b=0,1
if a < max:
def fib(max): vield a
a,b=0,1 > a,b=Db, a+b
while a < max: if a < max:
: vield a
|d
VIEE a, b=Db, atb
3, b =b, atb if a < max:
yield a

a,b=0>b, a+b



25 3]

N

o

i E A

* enumerate I‘_lézbﬁ

_a

ik

[=q=)

frr



A Eenumerated %L

enumerate(iterable, start=0)

Return an enumerate object. iterable must be a sequence, an iterator, or
some other object which supports iteration. The __next__ () method of the
iterator returned by enumerate() returns a tuple containing a count (from

start which defaults to 0) and the values obtained from iterating over
iterable.

>>> seasons = [ Spring’, *Summer’, ‘Fall’, ’Vinter’ ]

>>> list(enumerate(seasons))

[(0, *Spring’ ), (1, ’Summer’), (2, *Fall’), (3, *Winter’ )]
>>> list(enumerate(seasons, start=1))

[(1, ’Spring’ ), (2, ’Summer’), (3, *Fall’), (4, *Winter’ )]

list() : i Hnext()ELBIABE A 1L, JF HATREMEAEAFIZR, SEFUHUE S| R ENT

[i for i in enumerate(seasons)]
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def enumerate(sequence, start=0):
n = start
for elem in sequence:
vield n, elem
n+=1
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Generator
expression [EEEiT

>»>> g = (n for n in [1, 2, 3])

. >>> g
When evaluated’ <generator object <genexpr> at

returns a 0x109a4deb0>
/ >>> g.next()

generator object §
>>> g.next()

2

>>> g.next()

3

>>> g.next()

Traceback (most recent call last):

File "<stdin>", line 1, in <module>
StopIteration
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e for, list 2~ i _I- /& 7F 1 F next(obj)
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2120 The Python yield keyword explained
votes What is the use of the yield keyword in Python? What does it do? For example, I'm trying to understand this
python iterator generator yield asked Oct 23 '08 at 22:21
397k views ‘otz Alex. S.

16 code (**): def node._get_child_candidates(self, distance, min_dist, max_dist): if ...
7iin) 13.2k #7228 #42

http://stackoverflow.com/questions/231767/the-python-vield-keyword-explained
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